Esercizi
A) Calcolare i seguenti limiti:
: _ 3
1. lim sin(2z) — tan(2z + x°)
z—0 x(1 — cos? z)
9. lim log(1 + 2?) — sin®z
=0 (1 —cosz + x*)?
1 11 1 2)\11
3. qim LF) - = (o ta?)
z—0 er” —1
4. lim(e® + x)/®
z—0
) 1
5. lim x<\/4+ - — 2005—)
r——+00 €T €T
6. Tim (cos(2x) + (‘:ozh(Qx) — 2)tan(z + 3)
z—0 sin”(3z) — 922
. Va3 + 322 — Va2 + 3x
7. lim
z—too \/xt 422 — ot 4+ 1
Va4 + 22 — /8 + 322
8. lim — -
z—0 x sin(2z) + cos(2x + 22?) — €3
3/2 _9.3/2 _ 1/2
9. lim 2(z +3) ‘ 2z 9(x +3)
T—~+00 5111((;5 + 2)*1/2)
: Vad + 2 —Vad +5
10. lim
v—+oo ® (exp(z + 3e~*) — exp(z) — 3)
, Ve® + x — cosh(v/2x)
11. lim
z—0t exp( 1 +2x) —ev1+2x
2(,—2z% _ 2\—1/2
1+4
12. limx(e, (—i—x) )
20 sin x sinh x — 2?2
. (sinh*(2z) — sin®(2x)) cos(2x)
13. lim
20k /2% + Tad — /2?2 4 81
14. lim (Va?+ 6z — 4—xe3/m) log(1+€**)
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16.

17.

18.

19.

20.

21.

22,

23. lim

24.

25.

sin(z — sin x)

’
Ey sinh(z — sinh z)

2exp(cosz) + elog(1l + %) — 2¢

lim 5
z=0 (exp(cos®z) — e)

. 2 :c+3)_2_
i (Foo(522) )

<2x(x —9)— 2 log (1 +sin %))

lim
r—r-+00

i (e (527) (o)
im x ex —— | — €X COS —
T——+00 P 222 + 1 P T

( sin(4z) _cos(3:1:))

1 —cos(4z)  sin(2z)

lim
z—0

3 3
lim 2z* (log (cos —) —cos — + 1)
T—+00 X i

5+ 22
2] -2
. o Og<3+x2)
lim

exp|sin— | —1——
x

Xz

exp(3 cosx) + exp(3 cosh ) — 2¢3

z—0 (005(31‘) COSh(?)l‘) — 1) (COS(GJ:) - 1)

—— ( 322 ) 3 12¢3
im z° | ex —e’+ —
z—4-00 P 2+ 4 2

4
exp (5:10 Cos —) — 2sinh(5x)
x

lim

€T o0 3
o <\/:c6 + 624 — 23 exp <?)) ed®

(exp(V/z? + 523 ) —e®) sin(22?)
(cos(ir) e )

lim
z—0t




Soluzioni

A)
1. =5
2
2. ——
3
3. —©
4. ¢
5
5 -
4
4
6 —gtan?)
7. —1
8. 0
27
9., ——
4
10. 0
11. —E
6e
12. 360
64
13. — —
3
14. —22
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20.

21.
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23.
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25.

26.

5e’
27(cos1 —1)

120¢€3
40

9
45
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